
Packaging: xStorage Home & accessories

Foot fixing: 
use M4*30L

M4*15L
Screw

M4*15L
Screw

 Support plate (Left) Support plate (Right)

min15cm

min15cm

min
15cm

min
15cm

Hybrid inverter

Battery pack

180

14
5

183

50

396

39
2.5

>5
95

mm

34
5

23
7

696
546

5

FOOT FIXING

83 67

20

200.75 192.75

11
4.6 Hybrid inverter

Battery pack

M4*15L Screw

Grounding
wire

RS232 Cable

No. Battery pack accessory

15 1x battery pack unit, dim: 781 x 442 x 175 mm (W x H x  D)
16 1x wall mount M4*30mm screw
17 1x plastic wall insert plug (M4)
18 Power cords for DC input connections
19 5x M5*10mm screws
20 1x foot for leveling battery position
21 1x support bracket
22 7x M5*40mm round thick head wall mounting screws for BT type
23 7x plastic wall insert plug (M5)
24 1x M6*12mm grounding screw

No. Invertor accessory

1 1x hybrid inverter unit, dim: 796 x 515 x 182 mm  (W x H x D)
2 1x wall mounting bracket
3 8x M5*40mm round thick head wall mounting screws for BT type
4 8x plastic wall insert plug (M5) type
5 3x M4*15mm truss cross
6 3x M3*8mm round washer head screw, machine type
7 16x M4*6mm flat cross

8 1x blanking/cover panel for MC4 connector  
(Connected and disconnected)

9 1x RS232 communication cable
10 1x grounding wire
11 1x terminal block cover for AC load output and input
12 1x Quick Start Guide, 1x Safety Guidelines
13 1x wifi dongle
14 1x terminal block

xStorage casing

220  890

1230

1x - Support plate
(Right)

1x - Mounting 
bracket (Inverter)

1x - Reinforce plate

1x - Mounting 
Bracket (Battery)

2x - Side reinforce plate

1x - Support plate (Up)
1x - Support 
plate (Left)

②

③ ④

⑥ ⑦⑤

⑮ 

⑯ ⑰ 

⑲  ⑳  

Never turn on any equipment when there is an evidence of fire, water or structural damage

EATON  xStorage Home Eaton Nissan Home energy storage  February 2018 EATON  xStorage Home Eaton Nissan Home energy storage  February 2018

PE FOAM

MOUNTING  BRACKET KIT

ACCESSORY BOX

CARTON

TB COVER

INVERTER ①①

⑪

⑬ ⑭ 

xStorage Home must be installed only by a qualified personnel i.e. Eaton’s certified installer

⑧ ⑨

⑫

EATON  xStorage Home Eaton Nissan Home energy storage  August 2017

Eaton xStorage Home
Quick Safety Guidelines

SAVE THESE INSTRUCTIONS. These safety guidelines contain essential information that must
Instructions must be carefully read and understood prior to operating the equipment i.e., Hybrid Inverter (HI) and
installation must be done in a dry, indoor environment within 0 to 30°C, free of conductive contaminant. NOTE:
apply provided safety instructions  in order to avoid erelectric hazard  shock, potential death  and sever product

 

Safety guidelines apply to following xStorage Home systems and product

  

 
4.2kWh  
4.2kWh  
4.2kWh  
6.0kWh  
6.0kWh  
6.0kWh  
7.5kWh  
7.5kWh  
7.5kWh  

 
xStorage Home Systems 

Charging power Battery capacity Product Description Part Number 
3.6kW 4.2kWh 1 phase, 3.6kW & 4.2kWh XSTH1P0361UBUEV1 
4.6kW 4.2kWh 1 phase, 4.6kW & 4.2kWh XSTH1P0461UBUEV1 
6.0kW 4.2kWh 1 phase, 6.0kW & 4.2kWh XSTH1P0601UBUEV1 
3.6kW 6.0kWh 1 phase, 3.6kW & 6.0kWh XSTH1P0362NBUEV1 
4.6kW 6.0kWh 1 phase, 4.6kW  & 6.0kWh XSTH1P0462NBUEV1 
6.0kW 6.0kWh 1 phase, 6.0kW & 6.0kWh XSTH1P0602NBUEV1 
3.6kW 7.5kWh 1 phase, 3.6kW & 7.5kWh XSTH1P0363NBUEV2 
4.6kW 7.5kWh 1 phase, 4.6kW & 7.5kWh XSTH1P0463NBUEV2 
6.0kW 7.5kWh 1 phase, 6.0kW & 7.5kWh XSTH1P0603NBUEV2 

 

 CAUTION LOGISTICS 

• Both packed units HI and BP are considerably heavy: wear safety shoes and use vacuum lifter preferentially for handling
operations

• All handling operations such as loading, lifting, moving packed units through the warehouse, delivery and unloading will
require AT LEAST two persons working together;

• Always store packages in the dry and humidity controlled environment where storage temperature range is from -10 up to
40°C far away from running liquids;

• Never let a foreign body penetrate inside any of the packaging. i.e., both BP or HI;
• In case of dropping any of the packaging report this immediately to responsible personnel who has to afterwards carry out

the product quality control and make sure that fall impact did not cause any damages to the product;
• Do not leave packed products outside. Excessive weather might cause severe product damages.

 WARNING LOGISTICS 

• Do not t lift any of the packed or unpacked units on your own without help or using an adequate machine lifter. There is a
sever risk of self injury.

• Do not pack more then 2 pallets with product on top of each other . 1 pallet contains: 3 rows of products i.e., 3 packed on
top of each other distributed in 2 side to side columns. If the stocked number of packages exceeds defind number there
is a double risk of damaging the products and risking packages falling directly to the floor and on the handler of the units
leading to potential death and product irreversible damage.

• When loading, lifting, storing and delivering products avoid uncontrolled product movements. These could harm both the
product and the handler of the units.

• The BP and HI must be transported in its original packaging, in an upright orientation (terminals at the top).
Compliant, non-flammable material must be used to protect the battery pack from impact damage. Never lift the battery
pack or the hybrid inverter by the terminals.

• During the delivery, products must be carefully packed to prevent any product damage during the transport in case of
excessive vehicle movements which should be avoided

 DANGER INSTALLATION 
• The product installation i.e., mounting, connection instructions and operation described in the manual must be followed at

all times in the given order;

 

⑩

⑱ 

Prior to installation it is required to download (www.eaton.com/xstorage),  
read, understand step by step instructions from the latest user manual.

Eaton xStorage Home
Quick Start Guide

Instructions
•	 To meet warranty and safety requirements, keep the distance 

between the xStorage Home system casing and surrounding 
sides at minimum of 15cm

•	 Wall must support following weights: 37kg inverter, 83kg 
battery pack, casing and mounting bracket  
appr. 15kg. Total of 135kg

•	 Mount the inverter and battery pack onto wall bracket (the 
user may install screw to secure the battery pack on the wall 
mounting bracket)

•	 Mount the casing onto wall bracket (the user may install screw 
to secure the outside cover on the wall mounting bracket)

•	 Once installed, the xStorage Home system must not be 
opened under any circumstances. In case of need, contact 
your installer

•	 Note: the torque to tighten mounting screws should not be 
higher than the 0.4Nm

Instructions
•	 Both packed hybrid inverter and battery pack units are 

considerably heavy: wear safety shoes and preferentially use a 
vacuum lifter for handling operations

•	 All handling operations will require at least two people (unpacking, 
lifting, installation i.e. mounting on the indoor wall).

•	 Select a suitable indoor mounting location such as the house 
or the garage, no drywall and no outdoor mounting allowed. 
Operational temperature range: [-10°C, 30°C], 5% to 95% relative 
humidity (non condensing)

•	 Due to the various wall types, fixing the xStorage Home system 
might differ from case to case: Contact your Eaton technical 
support representative for recommendations

•	 In case of missing accessories, contact your Eaton technical 
support representative

•	 xStorage Home parts MUST NOT be energised during mounting 
and installation

•	 Allocate a minimum wall area of 1530 x 1190 mm that is clear of all 
electrical wiring, pipework or other obstructions either on or buried 
within the wall

•	 Use appropriate tools for installation

MountingPreparation phase

During installation unplug xStorage Home. Read and understand safety warnings prior to installation

Hybrid inverter 
&  

Battery pack mounting



Communication slot

DC switch

MAC Address

DC-Input (PV)
+

-

CAN-BUS
BAT COM

M

Optional EPO Port

10A max.

Default

T/R (   )
T/R (   )
T/R (   )
T/R (   )

USB

LAN

+ - + -

AC Grid
AC Load Backup

L
N

L
N

Off

On

Please Sign In

Submit

admin

12

Break off

Remove the 
Screws (A: M3*8L 
round cross)

Use again
the SCREWS
(A: M3*8L 
round cross)

Tightening torque
max 1.8 Nm

Wiring

Network configuration
Setting the Ethernet card for the first time

TECHNICAL DISCLAIMER: All drawings, specifications, any descriptions or illustrations contained in this document are 
issued or published by Eaton for the sole purpose of giving an approximate idea of the supplies described in them. They 
will not form part under these Terms in general or this Warranty specifically and might be subject to technical changes  
in the future.

Hybrid inverter connections

Battery pack connections

System connection diagram

Connection 
reference Description

1 DC-Input (BAT): Amphenol terminals for battery pack connection
2 DC-Input (PV): Cable cross section must be calculated according to Isc
3 AC Load-Output: The terminal supports the AC power wires connection. L (Phase), N (Neutral), GND (PE): Ø 4/6mm2
4 AC Grid-Input: The terminal supports the AC power wires connection. L (Phase), N (Neutral), GND (PE): Ø 4/6mm2
5 Ground (PE) Screw: Accessory include GND wire (Ø 10mm2) to connect battery pack chassis for safety purpose
6 Communication Slot: Ethernet card already assembled; LAN, USB and RS-485 port
7 CAN-BUS BAT COMM: Accessory includes RS232 cable to communicate with BMS board
8 Optional EPO port
9 USB
10 DC switch disconnector
11 AC plug limited to 10A load output
12 DC-Input (BAT): Amphenol terminals for hybrid convertor connection
13 CAN-BUS BAT COMM: Accessory includes RS232 cable

To enter the setting page for the Ethernet Card, open 
the web browser on the laptop and key in the default IP 
address of Ethernet Card as follows: https://192.168.2.254

Connect the Battery pack Ethernet card with a PC  
using a network cable.

The default IP address of the Ethernet Card is  
192.168.2.254. Set the laptop’s IP address in the same 
domain by assigning the following information in the  
TCP/IP setting:
IP Address: 192.168.2.X (X=any number between 2~253) 
Subnet mask: 255.255.255.0 
Default gateway: 192.168.2.1

Key in the following login information:  
Username: admin 

Password: admin 

After the first configuration, the Ethernet Card functions as a 
monitoring and communication interface

1

2

3

4

5

Cable Selection
•	 Connect both AC grid / AC distribution box with 10AWG / 4mm2 cable size 

(preferred)

Up to 4.8kw

DC in AC Out

Non critical load

Critical load

PV

Distribution box

RCD

PV-

PV+

Up to 6kw

AC in/out AC in/out

RCD

RS-485

L
N
PE

L
1
3

2

2

4

4

1

L

3

N

N
PE

Power
meter

Power
meter

Solar
inverter

DC in/out

BA
T-

BA
T+

AC load output/input

NOTE:
1. RCD installation must be conducted in accordance with local 
    electrical codes and standards
2. The use of the off grid AC output must be realized in accordance 
    with the local grid connection rules and standards
3. System connection diagram illustrates general installation 	
    scheme. Actual outline will depend on local electrical codes   	
    and standards

EATON  xStorage Home Eaton Nissan Home energy storage  February 2018 EATON  xStorage Home Eaton Nissan Home energy storage  February 2018


